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Stats Review Day II

1. Darren measures the heart rate of 10 randomly selected students in his Algebra 2 class. What is the population?
What is the sample?
@ The Algebra 2 class is the population and the 10 randomly selected students are the
sample.
b. The high school is the population and the Algebra 2 class is the sample.
c. The Algebra 2 class is the sample and the 10 randomly selected students are the
population. S
d. The Algebra 2 class is the population and the high school is the sample.

2. How does an SAT score of 750 compare to an ACT score of 30.17 & M&wws P
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a. YThe SAT score of 750 is better than an ACT score of 30.1 because 750 is 2.5 standard
deviations above the mean of 500 while 30.1 is only about 2 standard deviations above
the mean of 20.8.

b. The ACT score of 30.1 is better than an SAT score of 750 because 30.1 is 2.5 standard
deviations above the mean of 20.8 while 750 is only about 2 standard deviations above

- the mean of 500.

c. The SAT score of 750 is better than an ACT score of 30.1 because 750 is 2.5 standard
deviations above the mean of 100 while 30.1 is only about 2 standard deviations above
the mean of 4.8.

d. The SAT score of 750 is about equal to an ACT score of 30.1 because 700 is 2 standard
deviations above the mean of 500 and 30.1 is 2 standard deviations above the mean of

20.8.

3. A bookstore wants to determine how many books 4. A restaurant chain’s owners are trying to decide if
the people in the surrounding neighborhood read they want to open up a franchise in your town. To
per month on average. They survey each customer help them decide, they want to find out how often
who enters their store for one week. Identify any people in your town go out to eat. A researcher
bias in this method. If appropriate, suggest a interviews people leaving a local restaurant and
method more likely to produce a random sample. asks them if they are exci :
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Is there any bias in the survey question?

Explain.
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Two students in different classes took the same

math test. Both students received a score of 87.In  Cowapeave T -S mms/@ ‘“‘Cew‘"d- =
student A’s class the mean was 78 and the standard 4w, WO el Curve

deviation of 3. In student B’s class the mean was — : 2

76 with a standard deviation of 4. Which student \S.(—Q_ “ e{?‘ (B"\g ‘Eg
scored did better with respect to their class? Justify —

vour answer.
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8. Betty’s Bite-Size Candies are packaged in bags.
The number of candies per bag is normally
distributed, with a mean of 50 candies and a

standard deviation of 3. At a quality control e =
checkpoint bags that contain fewer than 47 candies OINXE 2 ¥% t\3. 5‘-1./0 = 15.86%%

are removed. If 9,750 bags are produced per day, " ~ 50
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A population has a mean of 102.8 and a standard .
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9.
deviation of 15.4. If a data point has a z-value of
1.87 then what is the value of the data point? .
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10. The average height of corn stalks in a field is 65 \ X~ ‘ 5 ‘ 5

inches with a standard deviation of 2.7 inches.

a) Sketch a normal curve labeling the horizontal
axis at one, two, and three standard deviations from

the mean.
b) What is the range of corn heights that fall within : Q:A
Sge U@\C\—‘ 8/2"

approximately 95% of the mean?
¢) What is the probability that a randomly selected

stalk of corn is more than 63 inches high?

d) What is the probability that a randomly selected
stalk of corn is less than 67.7 inches high?

¢) What is the probability that a randomly selected
stalk of corn is between 60 and 66 inches high?
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